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1 [ 18 21 Lskskskskoskskskokskokskk 8 19 62 3kskskskskkokkokk 92 |
2 =R 21 0skskstesiosksksksksiosksksk 347 62 1ksksksiskskokekekok (056198
3 PN 21 0kskskstokskskskskokoksk 224 62 Lksksksoskstokskoksk 1 06945
4 J& A 21 0skskskstoskstsksieskokoksk 6 24 62 2kskkskkekokokokk 487447
5 e 21 Lkskskskskskskskokskoksk 5 1 5 62 3kskkskskkkkokk 330859
6 wRE)| 21 Ikskstskeksioksfokoskkok 8 1 4 62 1 skskstokskstokkoksk 285
7 PERAE 21 Qsksksiskoskskskskskoskskk 04 1 62 1kskskskskskokkokx 90809 1
8 PN 21 Qsksksteskskskotestotokskk 327 62 1kskekskskskskkokx 307926




9 {a] |3 21 Iskskstoskseskoskokskoskokok () 1 8 62 3skskskkekskskokskk409
10 F Hr 21 0xkskskoskskestoskafeskoskokok 4 1 3 62 2%kkskkkkkkk649515
11 g AH 21 Dskskswesiosksksksksioskosksk(0) 1 8 62 2kskskswskokokekokok 186547
12 Xk 21 0xkskskskskestoskoteskskkok 32 3 62 [skskskskskstoskokoksk 19 1
13 MR3e 21 Iksksskksokkokk (028 623kt ddkk 053
14 JE 1t A 520skkskskskkokskskskskk 84X 62 3kkkskskskokokkk 1 16
15 Z= 23 Lkskskskskskskokskokskk 52 | 62 3kskskskskskokekokk 252772
16 =+ F1BH 21 Qskskskskokskskskskskokk 9 1 7 62 2kkkskskekskekskk504 15
17 [ i 23 2sksksksksrskskokskskok k925 62 Jkskskskskskokkk 253119




18 ST 21 Qkskskskokskskskskskoksk 529 62 3skkkskekekekekokk(096906
19 = H I 21 Lskskskoskskskoskotskskokok 6 1 4 62 3skskskskekskskokokk 778
20 JE A 21 Qskskskskskskskokskskokk 8 1 X 62 3kkskskskskokekokk 528
21 F A 21 1kskskskskskskskskskoksk 6 30 62 3kkskskskekekekokk 336
22 F 21 0kskskskoskskokokskokskk 4. 28 62 3kskskskkskokkokk 255
23 Lyt 21 Lksksieskosksksksksiosksksk 6.2 ) 62 1sksksksikokekekokk 383294
24 =4 21 0ksksksiskskokskokskoksk 4. 2.3 62 3kskkskskkkkokk 102153
25 s 21 0kskstskskeskoskokskskokk 228 62 1 kskskkskskskokokk 268
26 & LEF 21 Lkskskskskskskokskokskk (0 36 62 3kskskskskskokokokk 342




27 B 21 Qsksiskstskstesksesiskeksk 4 2 X 62 kskskstosksikskoksk 35 |
28 25 —H| 21 0skskskeskskskskskskskskosk G 1 X 62 3skskskskskskskokkk 377876
29 TAERE 21 0skskskstokstsksieskokoksk () 1 5 62 Lkskskstsksiskokoksk [ 53
30 X F= 21 1skskskskskskskskskskoksk () 1 6 62 3kkskskskskokekokk 879
31 42t XY 21 Lkswskstoskstesksteroskeksk8 1 1 62 3kskskskokekketokk 706
32 AR E 21 Qsksiskstoskstoskstekskosk 31 5 62 3skskskskokekoksdokk9 59
33 vl 37 Lkskswskskskskskskoksksk 5 | 1 62 1kskekskskoskoskokokk 197188
34 B F v 37 Qskskskskokokskskskskskek 9 1 2 62 3skkkskekekekkkk596076
35 TR 21 Lkswskstoskstoskstekokeosk 4 1 4 62 1 kskskstoskstokskoksk [ 28937




36 YAk 3vn 21 Qskskskskskskskskskskoksk 1 22 62 1 kkskskskskokokokk G646
37 BH 1= 21 kskskskskskskskskskok sk 0 26 62 3kkskskskokokekokk 898
38 pUE=N 21 Qskskstesiosksksksksioskosksk (04 7 62 3kskskskokokekekokk8 26
39 {a] e HE 21 Qkskstsksteskskotokskokok 4 1 7 62 [ kskskskstskskoksksk 609
40 K- oth A1 2kskskkekskekokskkok 330 62 1 skeksksksskekoksk [ 29042
41 2 it 21 Dsksksksiskskokskskoskoksk 5 32 62 1sksksksiskokekekokok (032390
42 EH 21 Okskskskskskskoskskskskk8 1) 02 1 kkskskskskkksksk 749150
43 F—k 21 Qkskskskskstokskokokokk 620 622%*k*kkkkokokkk 1 76576
44 BHPE 1 50skskskskskskskokokokk 513 61 2%kkkkekekokkx 313656




45 PR 21 Lkskskskoskskokokokskoksk 2 2.2 62 2kskskskkkekekokk 177202
46 Y E i 21 skskskskskskokskskskoksk 7 15 62 1 kkskskskskekskskok 40 1
47 [ 12 471 1 skskskokskskskoksksksksk4 1 X 62 3skskskskskskskoskkk9 (3840
48 FAE 230%kkskskkkkk Ak K9 29 62 1 ksksskskatk k99 7
49 XN B X 21 0kskskskskskskskskosksksk (050 62 3kskskskkkokokkk4 57
50 WA 21 0ksksiesiskskoksksioksk k9 1 6 62 2kkkskkkkkkx 936775
51 RN 4 37 Qskskskestestestesfstskskokok 2 1 X 62 1 skskskskskokokokkk 85864 3
52 =N 21 Tskskstosksesioskokskoskokok ()1 8 62 1 kskskskskskskekokk86 1246
53 IR By 21 0ksksksrskskokokokskoksk 4 1 3 62 2kskskskkkokokokk 581772




54 = ES 21 0skskoksksksksksksksksk k026 62 2skskskskskskskskskk 727
55 z5 1% 21 Lskskstoskskeskoskokokeskokok 4 10 62 [skekskskokskskokk 837304
56 A& 21 0kskskskoskstokafoskakoksk 2 29 62 [kskskstoskstokekoksk 182510
57 FBiiE 21 0xkskstskseskskoteskskkok 224 62 [skskskskstskskokoksk [ 99
58 oK 7 1 H2skskskskskskokskskskskok (02X 62 3kkskskokskoksksksk 772
59 ok Bif g 21 0sksksiesioskskoksksiokskk 31 8 62 1sksksksikskokekokk 752562
60 R 21 Lskskstskoskskokokskokskk 8 1 8 62 3kskskskkkekokskk 360
61 VAR5 21 Qskskskskeskoskskokskosksksk8 1 5 B2 2kskskskskskskskskk 257221
62 RE 2 30kskskskekskskskskskokok 3 14 62 2kkkskskokokkokk654 143




63 FE ik 1 40ksksksksisksioskskokekok 2 1 2 62 2kskkskkskkskokk4 1 7850
64 PERiNER 21 Qsoksksttskokskkstokok 720 62 3skskskskeksfeskokkk 79T
65 T 23 2sksksiskkskokskskokskk 329 62 3kskskskkskokekokk 494
66 ] % 21 Qskskskskskskskskskskokok 01 3 62 2skskskskskskskskokok83 5 1 4




